2003 DECA Ontario Provincials                                 Blue Version A







2003 DECA Ontario Provincials                                 Blue Version A








 SEQ CHAPTER \h \r 1 1. 
An automobile manufacturer is considering adding a sport utility vehicle to its product line.  What technology would allow the company to experiment with different styles, features, and sizes of the new product without investing large amounts of money or time?

A.
Computer-aided design

C.
Data processing

B.
Computer-assisted manufacturing

D.
Artificial intelligence

 2.
What is the main reason why retail buyers purchase goods? 

A.
To resell

C.
To export

B.
To consume

D.
To display 

 3.
Which of the following would be most effective in improving a business's security:

A.
Raising prices

C.
Having fewer sales 

B.
Using closed-circuit television 

D.
Establishing longer hours of operation  

 4.
The buying process for industrial purchasing agents usually begins with the

A.
search for a supplier.

C.
identification of need.

B.
submittal of a purchase order.

D.
determination of costs.

 5.
Which of the following is a type of intangible business property that is protected by law:

A.
Trademark

C.
Acreage

B.
Inventory

D.
Equipment

 6.
Which of the following is a characteristic of a product trade-name franchise:

A.
The franchisee must operate under the trade name of the parent company.

B.
Managerial assistance and training are usually not part of the arrangement.

C.
Products and materials usually must be purchased from the franchiser's vendors.

D.
A full range of assistance is provided in setting up and operating the business.

 7.
In a large business, all the sales recorded in the sales journal usually are __________ by department.

A.
planned

C.
controlled

B.
summarized

D.
classified

 8.
Nationwide Insurance sells many kinds of insurance protection to its clients.  Nationwide would be referred to as a(n)

A.
business.

C.
utility.

B.
economic resource.

D.
not-for-profit company.

 9.
Many businesses use database software programs to computerize their customer mailing lists in order to instantly

A.
sort by zip code.

C.
write e-mail messages. 

B.
prepare sales letters.

D.
calculate monthly profit.

10.
Which of the following is an example of a speculative risk that businesses might encounter:

A.
Automobile accidents

C.
High interest rates

B.
Unsafe working conditions

D.
Low operating expenses

11.
Which of the following is an acceptable reason to send an office memorandum: 

A.
To wish an employee a happy birthday

C.
To order merchandise from a vendor 

B.
To announce the addition of a new product
D.
To establish a personal friendship

line 

12.
Which of the following sentences contains an error in grammar:

A.
I rung the sale on the cash register.

C.
They came into the shop yesterday. 

B.
She saw the customer on the elevator.

D.
He spoke enthusiastically of the product.

13.
Why should a business inform employees that their e-mail will be monitored? 

A.
To communicate policies

C.
To reduce its liability

B.
To respect their privacy

D.
To control operating costs

14.
Written communications in business should

A.
be totally impersonal.

C.
use technical language.

B.
use long, informative sentences.

D.
be clear and easy to understand.

15.
Which of the following is a guideline for effective verbal communication:

A.
Use speech mannerisms

C.
Try to avoid eye contact

B.
Use gestures for emphasis

D.
Keep the voice at the same pitch 

16.
Which type of communication is being used when a salesperson sends a message to the store manager?

A.
Lateral

C.
Upward

B.
Downward

D.
Diagonal

17.
Which of the following is a way that an investment company can use customer service to facilitate order processing:

A.
To advertise extensively throughout the year

B.
To arrange transportation to corporate office

C.
To offer many plans in a variety of price ranges

D.
To provide information within a specified amount of time

18. 
Bar codes are often used in inventory management and product tracking.  They are useful in all of the following ways except
A.
tracing a product's route.

C.
increased accuracy and speed of employees.

B.
transmission of data via telephone.

D.
increased accuracy of product availability.

19.
Which of the following products would require special handling so that distribution would be effective:

A.
Sweaters

C.
Jeans

B.
Notebook paper

D.
Glassware

20.
Which of the following is a function of an information system that businesses use to fill customers' orders:

A.
To evaluate pricing standards

C.
To answer related questions

B.
To prepare shipping instructions

D.
To organize valuable inventory

21.
Which of the following is an example of a special commodity warehouse:

A.
Water tower

C.
Grain elevator

B.
Refrigerated vault

D.
Underground tank

22.
One branch in a large business chain complaining about the aggressive pricing tactics used by another of the chain's branches in the same community is an example of __________ channel conflict.  

A.
vertical

C.
external

B.
horizontal

D.
functional

23.
Receiving workers should record information about all incoming goods on which of the following forms: 

A.
Invoice

C.
Purchase order

B.
Credit memorandum

D.
Receiving record

24.
Which of the following terms fits this definition:  A business that buys goods from producers or agents and sells them to retailers.

A.
Shipper

C.
Carrier

B.
Manufacturer

D.
Wholesaler

25.
Canada purchases computer chips from Japan.  This is an example of a Canadian

A.
quota.

C.
import.

B.
export.

D.
license.

26.
Workers often increase their productivity in order to

A.
pay higher taxes.

C.
earn higher wages.

B.
take longer vacations.

D.
obtain more benefits.

27.
Which of the following is an industrial good:

A.
Tires for a Sears truck 

C.
Flowers for a holiday

 

B.
Matt's cellular telephone 

D.
Emily's personal computer

28.
A local neighborhood has many houses for sale at a low price, but demand for the houses is low.  What kind of market most likely exists in the neighborhood?

A.
Buyer's

C.
Inelastic

B.
Seller's

D.
Discretionary

29.
Businesses purchasing items for resale are not charged sales tax.  This helps to prevent what problem when measuring the GDP?

A.
Underground economy

C.
Double counting

B.
Recording bartering

D.
Secondhand sales

30.
Governments are often involved in settling business disagreements through the use of

A.
force.

C.
fines.

B.
negotiation.

D.
courts.

31.
The credit plan that does not charge interest for the privilege of using monthly credit is a(n) ________ credit plan.


A.
revolving

C.
regular



B.
installment

D.
long-term

32.
The type of financing businesses use most frequently for the purchase of resale goods is


A.
trade credit.                  B.  a credit union.

C.
long-term credit.                   D.  a trade association.

33.
Marketing research can affect the business's marketing mix by providing information about various locations that will influence the business's __________ decision.


      A..
place
C.         priceB.  promotion                 
C.
product

34.
Population data include vital statistics and the makeup of households, which help marketers to determine 

A.
where area shopping centers are located.
C.
what products are appropriate to the market.

B.
how unemployment levels will affect sales.
D.
what methods of transportation are available.

35.
Which of the following is one way that businesses use marketing information:

A.
To develop new products

C.
To change economic trends

B.
To revise credit policies

D.
To prepare sales invoices

36.
Based on the following frequency table in an oil-change shop's marketing report, determine how many of the shop's 1,500 regular customers have the oil in their cars changed four times a year.

# of Changes
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A.
450                  B.  475                   C.
500                        D.
   525

37.
Which of the following represents division of a market on the basis of consumers' lifestyles and personalities:

A.
Behavioral segmentation

C.
Geographic segmentation

B.
Demographic segmentation

D.
Psychographic segmentation

38.
What process might a business use to enter marketing data into a computer for analysis?

A.
Editing

C.
Screening

B.
Keyboarding

D.
Tabulating

39.
What is an advantage to businesses of using the Internet to search for marketing information?

A.
Word-processing flexibility 

C.
Interactive selling ability

B.
Document storing capability

D.
Around-the-clock accessibility

40.
Which one of the following is not an example of advertising research:

A.
Kellogg's sending a small sample box of cereal in the mail

B.
IBM obtaining data on broadcast advertising from the Arbitron Ratings Company

C.
Cosmopolitan collecting information about its subscribers by sending a survey

D.
Daimler Chrysler using a consumer panel to evaluate its ads for a new automobile

41.
How would market data, economic conditions, and competitive information be classified in a marketing-information system?

A.
Company data

C.
Marketing models

B.
External information

D.
Internal information

42.
What is the mode in the following example:  5 people eat pizza 1 time a week; 7 people eat pizza 2 times a week; 10 people eat pizza 3 times a week; 8 people eat pizza 4 times a week; and 2 people eat pizza 5 times a week.

A.
3
               B.  2.2                          C.
4


D.
2.5

43.
In order for businesses to be able to retrieve and use the marketing information that is stored in a database, the database should be organized

A.
in a logical way.

C.
alphabetically.

B.
by customer's name.

D.
according to date.

44.
Which of the following is a source of information for qualitative methods of forecasting sales:

A.
Industry experts

C.
Market research

B.
Customer surveys

D.
Economic trends

45.
When a marketer decides to change one of the elements of the marketing mix, the most likely result is that the

A.
changed element will become independent.

B.
other elements will need to be changed, too.

C.
other elements will remain the same as before.

D.
changed element will create marketing problems.

46.
Which of the following should a salesperson avoid when handling a customer's complaint:

A.
Taking action immediately 

C.
Spending time listening 

 

B.
Responding with exasperation 

D.
Asking the customer to explain 

47.
John's supervisor provides only general guidance, avoids giving specific or detailed directions, and wants employees to function independently.  What leadership style is the supervisor following?

A.
Assertive 

C.
Democratic 

 

B.
Authoritarian 

D.
Laissez-faire  

48.
What type of customer typically requires the salesperson to exert extra effort in order to close the sale within a reasonable period of time?

A.
Slow/Methodical 

C.
Dishonest 

 

B.
Domineering/Superior 

D.
Disagreeable 

49.
What might a business lose if an advertisement attracted new customers, but they were greeted by a discourteous employee?

A.
Repeat business

C.
Service problems

B.
Frequent complaints

D.
Negative impression

50.
The most important business policy affecting customers directly is the ___________ policy.

A.
service

C.
credit

B.
promotional

D.
product

51.
Employees who use office equipment only for company business are helping to 

A.
reduce waste.

C.
spend revenues.

B.
identify theft.

D.
control expenses.

52.
The primary goal of a good orientation program for employees is to build a successful __________ relationship.

A.
employer-employee 

C.
employee-customer 

 

B.
employer-customer 

D.
employer-community 

53.
Janelle has agreed to fill in for a coworker on Saturday night.  On Saturday afternoon, a friend invites Janelle to a concert by her favorite rock group.  Which of the following would demonstrate that Janelle is a responsible person:

A.
Calling in sick in order to go to the concert

B.
Declining the invitation and going to work as promised

C.
Asking the coworker to find someone else to fill in for her

D.
Calling her employer to explain and to make alternative arrangements

54.
In order to take good care of your eyes and teeth, you should

A.
have regular checkups.

C.
follow AAFC guidelines.

B.
see a doctor when a problem arises.

D.
wear sunglasses and use mouthwash.

55.
Kwacky Kwackers needs a new package design for its crackers.  What marketing professional would be responsible for creating the new package?

A.
Advertising

C.
Product management

B.
Marketing research

D.
Distribution/Warehousing

56.
When making decisions, people have little control over __________ factors.

A.
ethical

C.
quality

B.
personal

D.
reality 

57.
What do individuals often obtain as a result of using networking techniques?

A.
Job leads

C.
Career goals

B.
References

D.
Applications

58.
When George was interviewed for a job opening, he forgot to tell the interviewer that he had computer experience.  When George writes his follow-up letter, should he include this information?

A.
Yes, he should describe his computer skills in detail.

B.
No, he should limit his letter to a few words of thanks.

C.
No, he should not let the interviewer know he forgot anything.

D.
Yes, he can write a brief statement about his computer skills.

59.
What should a job applicant do when there is a question on a job application that does not apply to him/her?

A.
Leave the space blank

C.
Ask the interviewer what to do

B.
Create an acceptable answer

D.
Draw a line through the blank or mark it NA

60.
A group of individuals who join together to improve their standing in their careers and to expand their knowledge of a particular field are forming a __________ association. 

A.
trade                        B.   professional

C.
local   

D.
career   

61.
A major purpose of establishing personal goals is to

A.
decrease personal needs. 

C.
identify your wants.

 

B.
achieve success in life.

D.
get help from others. 

62.
What should people ignore when they are polishing and refining their ideas in order to make them work?

A.
Industry feedback

C.
Logical questions

B.
Personal suggestions

D.
Negative comments

63.
If a producer priced its products much lower than those offered by competitors, is it possible that the producer would lose customers?

A.
Yes, channel members avoid buying from the lowest priced producer.

B.
No, customers will buy from the producer offering the lowest price.

C.
No, channel members seldom change vendors when they're getting the lowest price.

D.
Yes, the price may be so low that the producer is unable to perform certain duties.

64.
A chain of hotels located in a resort area that rents its rooms at extremely low rates in an effort to eliminate the competition is involved in

A.
price fixing.

C.
price lining.

B.
promotional pricing.

D.
predatory pricing.

65.
What do businesses expect to make when they set prices on goods and services?

A.
Salaries

C.
Quotas

B.
Payments

D.
Profits

66.
Which of the following questions should be asked by a firm that is trying to decide whether to brand its products:

A.
Can we sell this product without a trademark?

B.
Will Company B find out we are using its brand?

C.
Can the product be easily identified by a brand?

D.
How much total sales revenue will the product earn?

67.
In order to be more competitive with the foreign car market, Chrysler Corporation introduced the Cirrus as a small to mid-sized family car that would appeal to young, middle-class families.  This is an example of

A.
trading-up.

C.
alteration.

B.
positioning.

D. 
trading-down.

68.
One reason why many businesses use product bundling is to

A.
increase the cost of production.

B.
make products more expensive to customers.

C.
satisfy all of the customer's needs with one purchase.

D.
urge customers to tell their friends about the product.

69.
Businesses hope that innovators will buy new products when they are in the introductory stage because this helps to

A.
create demand for the products.

C.
reduce the costs of product development.

B.
persuade competitors to enter the market.
D.
get the products in the hands of older buyers.

70.
A company can use product/service management to decrease business risk by

A.
developing several products.

C.
hiring a planning firm.

B.
concentrating on one major product.

D.
having a backup for every product.

71.
A seller of clock radios provides purchasers with an assurance that any problem with the radios will be repaired or the radios will be replaced if they stop working within a year's time.  This promise by the seller is an example of a 

A.
guarantee.

C.
warranty. 

B.
limited warranty.

D.
money-back guarantee. 

72.
Institutional promotion is sometimes attacked by critics because it

A.
educates consumers about products.

C.
creates a low profile for the business.

B.
takes money away from product promotions.
D.
creates consumer awareness of products. 

73.
One way that new technology is impacting the promotion function is by allowing businesses to create

A.
attractive commercials.

C.
publicity campaigns.

B.
individualized messages.

D.
personalized premiums.

74.
Which of the following is a significant cost factor for direct-mail media:

A.
Space

C.
Labor

B.
Air time

D.
Painting

75.
A provocative print-ad headline such as "How do you get 3,500 buffalo together for a cattle call?" is used to

A.
arouse curiosity.

C.
make a claim.

B.
promise a benefit.

D.
solve a problem.

76.
Internal factors that affect a company's promotional decisions include the

A.
environment and market demand.

C.
product, technology, and market.

B.
product, its price, and distribution.

D.
economy, distribution, and price.

77.
Which of the following is part of a firm's promotional mix:

A.
Pricing 

C.
Distributing 

 

B.
Advertising 

D.
Product planning 

78.
A local business has set an amount to spend on advertising, established a promotional goal to increase sales, and scheduled its ads.  This business is engaged in creating a(n)

A.
marketing mix.

C.
balance sheet.

B.
promotional plan.

D.
activity quota.

79.
When a business would like its news release to be presented right away, the business should indicate this by typing on the release

A.
DO NOT HOLD.

C.
HOLD FOR RELEASE ON...

B.
FOR RELEASE AFTER...

D.
FOR IMMEDIATE RELEASE. 

80.
A business known for expensive, high-quality products has obtained some lower quality items.  Management wants to advertise the products in the newspaper without damaging the business's image.  The copy in the ad should 

 

A.
focus on the business's image.

C.
describe the products as high quality.

 

B.
be directed to an appropriate market.

D.
say that the products are low quality.

81.
Newspapers, television, magazines, and radio are all examples of

A.
print media. 

C. 
direct mail. 

 

B.
broadcast media. 

D.
promotional media.

82.
An important result of an effective sales approach is that it

A.
helps to close the sale quickly.

 

B.
handles the customer's objections. 

 

C.
gives the customer an opportunity to try the product. 

 

D.
encourages the customer to want to hear about the product.  

83.
Fostering customer loyalty and goodwill helps to build a clientele, but these efforts can be wiped out by salespeople who

A.
fail to keep promises.

C.
understand their products.

B.
implement business policies.

D.
give customers full attention.

84.
Many professional salespeople feel that the best time to try for a close is

A.
after suggestion selling. 

C.
after covering all information. 

 

B.
when the customer seems ready to make a 
D.
when the customer seems undecided. 

buying decision. 

85.
Selling goods and services to consumers through the use of middlemen is known as __________ selling.

A.
indirect

C.
direct

B.
substitute

D.
suggestion

86.     One way of obtaining product information from other individuals within the same industry is to:


A.
visit research labs.

C.
attend trade shows.


B.
contact testing bureaus.

D.
take college courses.

87.
Written selling policies are preferred by some businesses because

A.
the policies are set and do not change over time.

B.
they prevent employees from making any decisions.

C.
they give employees guidelines for decision making.

D.
management is responsible for policy implementation.

88.
Performance expectations based on the number of dollars or units of products to be sold each month, quarter, or year are referred to as a(n)

A.
market share. 

C.
sales quota. 

 

B.
expense quota. 

D.
sales forecast. 

89.
When a salesperson uses trading-down in substitute selling, an important customer benefit is that the

A.
customer's real need is met.

C.
customer identifies a new need.

B.
salesperson makes a larger sale.

D.
business can expand its product line.

90.
A chair was purchased for $279.00, and the tax rate is 6%.  What is the amount of tax? 

A.
$14.74                      B.   $15.34

C.
$15.86 


D.
$16.74 

91.
The use of computer technology can help salespeople to better serve their customers by quickly

A.
processing orders.

C.
forecasting sales.   

B.
identifying prospects.

D.
organizing accounts.

92.
Diane sells costume jewelry in a department store, and her friend Linda sells life insurance.  Given these facts, which of the following statements is true about the selling process each uses:

A.
Linda spends more time than Diane on closure.     

B.
The selling process is identical for both types of sales.

C.
Linda often skips one or more phases of the selling process.

D.
Diane does not need to prescribe solutions to customer needs.

93.
In developing a selling vocabulary, which of the following words should you avoid using:

A.
You 

C.
Save 

 

B.
Safe 

D.
Cheap 

94.
Your client has just purchased an electric range.  Arranging delivery of the range and telephoning after delivery to see if there are any problems are methods of __________ the client.

A.
following up with 

C.
determining the needs of 

 

B.
reaching closure with 

D.
establishing a relationship with 

95.
Identify the factors affecting customer needs and wants in the following situation:  Because of their combined incomes, Mr. and Mrs. Roberts bought a more expensive car than Mrs. Roberts drove before their wedding.

A.
Place of residence and age 

C.
Income level and marital status 

 

B.
Marital status and culture 

D.
Income level and economic conditions 

96.
When a customer asks, "Why should I buy?" the person is making a __________ decision.

A.
price                        B.  place

C.
need 

D.
product 

97.
A customer has indicated a desire to be fashionable.  The salesperson should emphasize features and benefits related to the product's

A.
uses.                        B.   construction

C.
appearance. 
D.
durability. 

98.
One way for salespeople to get the attention of customers who are performing other activities rather than listening to the presentation is to 

A.
talk loudly.

C.
use audiovisuals.

B.
remain silent.

D.
demand attention.

99.
A sales representative for a college textbook publisher has put together a list of possible new purchasers of the firm's books from lists of college faculty members.  This salesperson is engaged in

A.
follow-up.

C.
referral.

 

B.
qualifying.

D.
prospecting.

  100.
Which of the following is a characteristic of an effective presentation software package:

A.
Uses vertical captions

C.
Provides large visuals

B.
Includes extensive wording

D.
Contains extensive detail


Copyright 8 2003 by Marketing Education Resource Center7, Columbus, Ohio

Copyright 8 2003 by Marketing Education Resource Center7, Columbus, Ohio

